
���������������������������������������������
������������������������������������
���
������	���������������������������������

����������
������
�������
���
��
�����������������
��������
���������
�������
��������

��� 
��������
�����
���� �� ����������­

����������������­ �����������������
������������
���������������������������������������������

����������������­
��������������������������������������������������������

�������
���������������­���

����������������������������������������
�������


�����������������
������	��	�����������	�������������������������������������������������������������	����	��
�����	���������
����������������������������������������


��������������	������������������	�������������������	���������������������������������������	��������������������
����������


�����������������	�������������	��	���������������������������������������������������������������	����
��������		�����������	��������������
���	������������

��������
����������
����

��������
�������
������

��������������� ������
����������������
���������������������
��	�������������
���������������

2mm Drill bit

x2  ������­���������������­����������
�������­��������������­�������	����


�����������������������
���	�����������������

��������������������������
����������������������	����
����������������������	����
����������	�����������

�������
�������������������������������������
������	����������	���������������������
������	�����������������������������	����������
�������������������������������������������������
�����������������������������������������
�������

��������������������������
����������������������������
	��	����������������
	����������

�����������������

��������
���������������

����������������	

����������������������������������������������������

����	��������	��������������������������������������������������������������������������

� �������������������������������������������������������������������������������������
��������������������������������
������

������������������������������	��������	����������������������������

�����������������������������������������������	����������������������������������������

���������������������������������

���������������������������������������������������������������������������������������		�����������������	���
�����������������������������������������������������������

 ����������������������������������	��������������������������������������������������������������������	�������
�����������������������

������

�������������������������������������	���������	���������������������������	����������������������������������������
�����������������������������������������������������������		���� �����������������������������		������������	�������
���������������������������������������������������������������������	������	���������������������	��������������������
��������������������������������������������������������������������������������������������������������������������
��	�����������������������������������

��	����������������������������������������������������������������������������������������������������������������������
����������������������������������������������������������������������������������������������������
���������������

����������������������
������������������������������������������	��������������������	���������������������������������
���������������������
���������������������������
��������������������������������������������������������
����������������������������������
�
�����������������������������������������������������������������������������

���������������
 ������������������������������������������������������������������������	������	�����
���������������������������		������������������������������	����������������������������

��������������������������������������������������������������������������������������������������������������������������
��������������������������������������������������������������������������������������������	���������������������������
������	�����������������������������������������	����������������������������������������������������������������������
������������������������

�������������

����	����������������������������������
	����

����������������������������������

� �����������

��������������
�����
����������
������
�
���������������������
��
��������������
��������������������
���������
�����
��
����
�����������
�������­��������������������������������������������������������������������������������������
���
��� 



����������������­ �����������������
������������
���������������������������������������������

����������

������������������	���������������������������������������������������������

�������������������������������������������������������

���	���������������������������	�������������������������	��	������	���������������

���	����������������������������������

���	������������������������	�������������������
���������������������������
�����
	�����������������������������������
��
������������������������������������������	���

�����������������	��������������������������������	��������������������	��

�����������������	����������������������


������������������������������������������������������������������������
����������������������������
��������
��������
�������������������������
����������

����������������������������������������������������	����

�������������������������������������������������������������������

����������������������������������������������������������������������������������
�����

��������������

������
�����������	���������
�����
�������������
�����������������������������
������������
��������
������������
�������������
��������������������������
����������
������

����	��������� ������������

 ���������������������

�����������������������������������
��������
��������
��������

������� ������������������������
��������������������	�
��������������������������

��� 
��������
�����
���� �� �����������

������������������

�����������������������������������������������������
�����������������	����	���������������������������	����
��������������


������������������	�����������������������������������	��
������������������������������������	������

�������	
���������������	�������������	���	����������	�����

���������������������������	
����������������������	��	�����

��������������������������������������������������������
������������������
��������������������������	��
��������

�����

ANY QUESTIONS?
Scan the QR code to 
contact us via our customer 
portal.

PLEASE SCAN HERE:



��� 
��������
�����
���� �� �����������

�����������������
������������
���������������������������������������������

Before assembly  
please make sure you have a 

suitable base ready to erect your 
building 

 

MADE IN GREAT BRITAIN

Overall Dimensions:
Width = 1440mm 
Depth = 1033mm 
Height = 1436mm

Base Dimensions: 
Width = 1380mm 
Depth = 910mm 

CONTENTS

5 6

Floor QTY 1
AI-R11MBF1380X910-V1

7

Roof QTY 1
AI-S11MBPR1410X1014-V1

21

Right Gable QTY 1
AI-05S11MBPGR915X1390-V1

Left Gable QTY 1
AI-05S11MBPGL915X1390-V1

4

Plain Panel Back QTY 1
AI-S11MBPPTF1410X1245-V1

3

Door QTY 2
AI-S11FBMBZBD660X1260-V1

Plain Panel Front QTY 1
AI-S11MBPPBSF1410X142-V1

12

13

14

15

8

9

10

11

Front Fascia - 12x95x1440mm QTY 1
S1295-1440mm

Side Fascia - 12x95x1020mm QTY 2
S1295-1020MM

Door Trim - 12x45x1264mm QTY 2
S1245-1264MM

Door Block - 28x28x140mm QTY 3
FS2828-140MM

T-Hinge QTY 4 
PI-07-0021

Felt  

Turn Button QTY 1 
PI-07-0034

Pad Bolt QTY 1
PI-07-0035

50mm Screw x 22

40mm Screw x 21

Felt Tacks x 80

30mm Screw x 51

NAIL BAG
There may be extra screws present in the nail bag 

Blue LabelGreen Label



��� 
��������
�����
���� �� �����������

�����������������
������������
���������������������������������������������

Pre Assembly

Before assembling remove the transportation
blocks from the bottom of each panel.

Take care removing the blocks as to not damage
the panels. Tap with a �at headed screwdriver 
and hammer.

Dispose of the blocks once removed.

Step 1
Place �oor (No. 6) on a �rm 
and level base, ensure base 
has suitable drainage  free 
from areas where standing 
water can collect.  (see front 
page on base requirements). 

Parts Needed- No.6 QTY 1

6

Do not secure the building to the �oor 
until the roof is �tted. 

Place the Right Gable (No.1) and the Plain 
Panel Back (No.4) onto the �oor.
Fix the corners with 50mm screws as shown 
in diagram.

Position the panels so there is equal spacing 
between the �oor and cladding on all 4 sides

Step 2

3x50mm Screws

Pre drill 
hole

50mm 
screw

4

1

Parts Needed- No.1 QTY 1, No.4 QTY 1 

IMPORTANT: Pre-drill before �xing screws.



��� 
��������
�����
���� �� �����������

�����������������
������������
���������������������������������������������

Step 3

7x50mm Screws

Place the Left Gable (No.2) onto the �oor and 
�x to the Plain Panel Pack using 3x50mm 
screws.

Line the Plain Panel Front (No.5) up to the top 
of the two gables and �x using 2x50mm 
screws,  screwing through the Plain Panel 
Front into the two gables. 

Pre drill 
hole

50mm 
screw

5
2

Parts Needed- No.2 QTY 1, No.5 QTY 1 

Do not secure the building to the �oor 
until the roof is �tted. 

Position the panels so there is equal spacing 
between the �oor and cladding on all 4 sides

IMPORTANT: Pre-drill before �xing screws.

10

10

Pre drill 
hole

Parts Needed- No.10 QTY 2

Fit the Door Trims (No.10) to the 
front  of the building as shown in 
the illustration using 30mm screws. 
Trim the length of the cover trims to 
the required size before �tting if 
necessary. 
Pre drill to avoid splitting. 

6x30mm Screws

Step 4

30mm 
screw

IMPORTANT: Pre-drill before �xing screws.

Parts Needed- No.12 QTY 4, No.3 QTY 2
Fix the T Hinges (No.12) onto the 
doors (No.3)  as shown. Ensure that 
the screws go through the cladding 
and into the framing behind.

16x30mm screws

30mm 
screwPre drill 

hole

Step 5
12

12

12

3

3

12

IMPORTANT: Pre-drill before �xing screws.

Parts Needed- No.3 QTY 2

Fix the Doors (No.3) to the Door trims 
(No.10) with 30mm screws ensuring  
the screws are located into the framing.

Leave  a 2mm gap in between the 
doors and the building.  
Pre drill to avoid splitting

12x30mm Screws

30mm 
screwPre drill 

hole

Step 6 IMPORTANT: Pre-drill before �xing screws.



��� 
��������
�����
���� �� �����������

�����������������
������������
���������������������������������������������

Parts Needed- No.7 QTY 1
Step 7
Place the Roof Panel (No.7) onto the 
unit, ensuring the roof rests on the 
front and back panel. 
 
Secure by screwing through the Roof 
Panel (No.7) into the gables and 
panels using 10 x 40mm screws.

12x 40mm Screws

40mm 
screw

Pre drill 
hole

IMPORTANT: Pre-drill before �xing screws.

7

Step 8
Once the roof is �xed and the  build-
ing is square, secure the building to 
the �oor using 50mm screws in 
alignment with the �oor bearers 
across the back panel (No.4) and side 
gables (No.1 and No.2)

12x 50mm Screws

50mm 
screwPre drill 

hole

a

a a

a

a

a
a

a
a a

a
a

a

a

IMPORTANT: Pre-drill before �xing screws.



��� 
��������
�����
���� �� �����������

�����������������
������������
���������������������������������������������

1
2

3

4 HANDLE
WITH CARE

13
Step 9
Unroll the felt onto a �at surface and 
cut into two equal sheets.

Lay both sheets of Felt (No.13) onto 
Roof (No.7) as shown in the diagram 
ensuring there is an equal overhang 
around the sides. Fix using Felt Tacks 
at 100mm intervals.

80 x Felt Tacks

Parts Needed- No.13 QTY 1

Felt 
tacks 

100mm

9

Step 10

9x40mm Screws

Fit the fascias (No.8 and No.9) 
to the roof over the felt and 
secure in place with 40mm 
screws as shown.
Pre drill to avoid splitting. 

40mm 
screwPre drill 

hole

8

Parts Needed- No.8 QTY 1, No.9 QTY 2 9

IMPORTANT: Pre-drill before �xing screws.

Step 11

30mm 
screwPre drill 

hole

11

Parts Needed- No.11QTY 3

Attach a Door Block (No. 9) to the top 
of the secondary door (No.5) using 
2x30mm screws, in the positions 
illustrated. Screw through the door 
cladding into the blocks.

Attach the second and third Door 
Blocks (No. 9) on top of the left and 
right doors top framing rail using 
2x30mm screws, in the position 
illustrated. Screw through the door 
cladding into the blocks.

6x30mm Screws

11
11

IMPORTANT: Pre-drill before �xing screws.



��� 
��������
�����
���� �� �����������

�����������������
������������
���������������������������������������������

Fix Pad Bolt (No.15) with 6x 30mm Screws 
to horizontal brace to the Right Hand 
Door.

Then �x the pad bolt retainer to the Left 
Hand Door framing using 4x30mm Screws

Fix the turn button (No. 14)  to the left 
hand door block ensuring the turn button 
catches the Plain Panel Front (No. 5) to 
secure the door.

15

11x30mm Screws

30mm 
screwPre drill 

hole

Step 12
Parts Needed- No.14 QTY 1, No.15 QTY 1

It is ESSENTIAL that you apply wood 
treatment immediately after the building 

has been assembled.

14



����������������������������������������������������������������������������	������
�������������������������������������������	��������������	�����������������	���������	�����
��������������������

 �������������������������������������	������������������������������

��������������������������������������������������	��������	�����������������
���������������������������
	����

�������������������������������������������������������������������������������
��������������������������������������

������������	�������������	������������	������������������������
�������������������
������������������������������������������������	�����������������������������������
���������������������������������������������������������

�������������������������������������������������������������������������

��������������������	������������������������������������������������������������������
���������������������������������������������������������������������������������������

������������������������������������������	�����������������������������������������
�������������������������	����������	����������������������������������������������������
�������������������������	�������
������������	���������������������������
�����������
���������������������������������������������������������������������������������������
¡�������������������������������������������������������

�����������������������������	���������������������������	��������������������������
�������	�����������������������	�������	������������������������������������	�����

�������������������������������������������������������	������������	�������������
��������	��	��������	��������������	����������

�����������������������������

�����������������������������������������������
��������������	�������������������	��������������������������������������������	������������������������������������	������������������������
	����������������	���������������	����	��������������������������������	�����������������������������	�������������������������������������	��	������������������������������������������
	������������������	����	��������������������������������������������������������������������������������������	�������������������������������	��������������������������������������������
	�����¡������������������	����������������������������

����������
�����
�����
������������������������������������������	��������������������	������������������������������������������������������
���������������
�����
�����
��������������������������������������������������������
�������������������
����
������
��
�
�����������������������������������������������������������������������������

��� 
��������
�����
���� �� ����������­�

������������������������������������� �����������������
������������
���������������������������������������������

��������������������

�����������
��������������

��������������������
�������������������	

ANY QUESTIONS?
Scan the QR code to 
contact us via our customer 
portal.

PLEASE SCAN HERE:



�����������������������

��� 
��������
�����
���� �� ����������­�

�����������������
������������
���������������������������������������������

�

�����������������������������	
��������	����������������������������	��	����������������	������	����������������������������
�����	�����������������������������������������������������������������


����	��������������������	���������������������������������������������


����	����������������������������������������������������������������������������������


����	���������


������	������	���������������		�����	�����������������	�������������	�������


����	������	�����������������������������	�����


�����������������	�����¢�	��	������������������	����������������

�������������¡��������������������������������������������������������¢���

����
����

���	������������������������������������	�����������������������������������������������
�������	����	�����������������������������������������	������	��������������������������
��������������	����	������������������������������������������������������������	��

������

�����	����������������������������������������	����������������������	��	���������������

���������������������������		�����	�����	�����������������
�������������	��������������
	�����������������	��	��������������

����

���	������������������������������������������������������������������������������������	��
��������������������������������	����	����

�����������
���

��������������	�����	�����	���	�����������������������������	�������	��������	�������
��������������¡�������������������������������	���������������������������������������
��������������������

���

�������	������£���������������������������	������������������������	������������

��������������

�����������������	��	�������	�������������������������������������������������������������
	���������	���	������������������	�����������������������������������������������
������������	����������������������������������������	�����	������������������������
�������������������������������

����


����������	������������������������������������������������������������������	��������
������������������������������������		������������������������

������


����������������	�������������������������������������	���������������	��	���	���������
��������������������������������������	��������������������������������������	�����������
�����������������������������������������������������������������������	��������	������
������������������������������

����������
�

��������������	��	�����	�����������������������������������������	���������������������������
	������������������������������������������	�����������	�������������������������������

���������	�����������������������������������		�����	�������	�������������������������
�����	���������������������������	����������������������������������������	�����������������
���������������������

1

2

3

4

5

6

7

8

9



������
��������������
�����������
�������£����
�����������������	

������������
���������
������������������������	������	��������������������
���������������������������������������������������������	���������������������
	������������������������������������������������������������������������
	��������������	���������������������	����������������������������������������
	�����	������
������	����������������������������������		����
������
��������������������������������������������������������	���������������������
���	����������������������������

����������������������������������������������������������������������
������������������������������������	�������	���������������������������������������
�����������������������	����������������������������������������������������������
��������������������������������������������������������������������������
�������

��
����
�
���
�����������������������������	�������������	����������	���
���������������	�������������������������������������������������������
����	�������������������������������������������	��������������������������
����������������������������������������������������������������������������������
	�����������������������

��������������������
���������������������	���������������������������
���������������������������������������������������������������������������
	��	������� ���������������������������������������������������������������
�����������������������������	������������������������������������������������������
�������������������������������������������������������	����������������
����
������	����������������������������������������������������	���������
����������	���������������������������������������������

�����������������
�������
�������������	�������������������	��	�����������
	�����������������������������������������������������������������������������
���	����������	��������������������������������������������������������������������
	�������������������������������������������������������

����
���������������		��������������������������������
����������������������������������������������������
������������������������������������������������������
����������������������������	���������������������������
�������������������	�������������������������������
��	���������������������������������������������������

����������������������������������������	��������
��������������������������������������������������
�������������������������������������	��	������

������������¤�����������������


������������������������������������������������������������������������������������
����������������������������������������������� ����	��������������	��	������
	��	�������������������������������	���������¤�����������

�������������������������������������������������������������������������
�������������������	���������������������������������	�������������������������������
������������������������������������������������������

 ���������	������������������������������������������������������������������
������������������������������������������������������

�

�������������������������������
�������
���   2


��������������	�������������������������������������������������������������
����������		�����������������	�������������������������������������������������
�������������

 ����������������������������������	������������������������������������������
��������������������������	������������������������������

�������������
����������������������������������
�������
���   1

�¥���������������   

��	��������������������������������������������������������������������������������
���������������������������������������������������������������������������������
�����������������������������������������������������������
��������������

����������������������
������������������������������������������	������������������
��	��
����������������������������������������������������
���������������������������
�������������������������������������������������
��������
����������������������������������
�
������������������������������������
�����������������������������������������

 ���������	�������������������	��������������������������������������������
��������������������������������������������������������������������������
���������

�������������	������������������	��	����������������������	������������
�		���������

3

4 ��������
�������������
����
�����������������

��������
������������������������������������������	��������������������������
�������������������������������������������������������������

��� 
��������
�����
���� �� ����������­�

�����������������
������������
���������������������������������������������


�����������������������������������������������������	�����������	��������
�������������������������	������������������������������	����������������������������
����������������������������������������������	���������������������������������������
����������������	��������	��������������������	����������	�������������������������
���������������������	�������������	���������������	�¥

��
���
��	
���	�������

�����	������
��������������	������������������

��������������������
��������������	��	������



�����������������

��������
���������������

����������������	

�����������������������


������	���������������	������������������������������������������������������������
������	�����������	���
�����������������������	���������������������������������������������������	��������
�����

������������������������������������������������������		���

��������������������������	�����������������������������������������
���������������	�������������������������������	����������������������
����
�������������������	����������������������������������
��������������������������������������������	�������������		�����	���������
���������������������	����������	��������������
�������������������������������������������������������������������	��������
��	������������������������������	��������������������������������	�����
���������������������������������	���������������������������������������������
������	������
���������������������������������	��������������������£��������������������������
	��	���������������������	�������������������������������
�����������������������������������	������������������������������������	��������������
������������������	�����	������	��	������������������������������������������
¦�������������������������������	����	��������������������������������������������������
���������������������������������
�����
���������������¡�����������������������������������������������������	�������
��������������������������
�����
�������������������	��������	��������������������������������������	���������
���������	��
��������������

������������¤����������1 2 ������������������

���	���������������	����������������������
������������������������������������
�����������������������������������������������������������������	�������������������
	����������������������������������	�����������������������	������	����
�����������������������������������������������������������������������������
������	����������	��������������������������������������������������������������
�����������������������
������������������������	���������������������������������������������������	���
����������

�������������������������������������������������������		���

�������������������������	�����������������������������������������
���������������	�������������������������������	����������������������
����
�������������	����������������������������������
���������������������������������������������	�������������		�����	���������
���������������������	����������	��������������
�������������������������������������������������������������������	��������
��	������������������������������	��������������������������������	�����
���������������������������������	���������������������������������������������
������	������
���������������������������������	��������������������£��������������������������
	��	���������������������	�������������������������������
�����������������������������������	���������������������������	���������������������
�����������	�����	������	��	������������������������������������������
¦�������������������������������	����	�������������������������������������������������
���������������������������������
�����
���������������¡�����������������������������������������������������	�������
��������������������������
�����
�������������������	��������	��������������������������������������	���������
���������	��
��������������

��� 
��������
�����
���� �� ����������­�

�����������������
������������
���������������������������������������������


